ISC 2018 analysis of study-solutions

Minski study Nr 3

all |correct |wrong |nothing
1. Sc2 269 100 65 104
Qc3+ 100 a0 45 15
2. Kf1 40 36 4 0
Be5 36 8 21 7
3.Sel 8 7 1 0
Qxel+ 7 5 0 2
4. Kxel 5 5 0 0
fxg2 5 5 0 0
5. h8Q+ 5 5 0 0
Bxh8 5 5 0 0
6. Qab+ 5 5 0 0
Kg7 5 4 1 0
7.0f1 4 4 0 0
Sakharov study Nr. 9

all |correct |wrong |nothing
1.Bd5+ 269 95 109 65
Kd7 95 80 12 3
2. Bxb7 80 74 5 1
Sf2 74 72 1 1
3. Bc6+ 72 66 5 1
Kxc6 66 64 0 2
4. b7 64 64 0 0
Kxb7 64 62 2 0
5.d7 62 62 0 0
Sg7 62 52 2 8
6. d8S+ 52 51 0 1
Kc7 51 45 0 6
7.5f7 45 45 0 0
Se6+ 45 37 1 7
8. Kf5 37 25 12 0
Sd4+ 25 25 0 0
9. Kg6 25 25 0 0
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Keith/Minski Nr. 5 (cat-2)

all |correct |wrong |nothing
1.97 116 59 18 39
Bb5+ 59 47 5 7
2. K5 47 47 0 0
Rxg7 47 45 2 0
3. Se6 45 33 10 2
Rb7 33 14 16 3
4. a6 14 12 2 0
Bxab 12 12 0 0
5. Kc6 12 12 0 0
Ra7 12 6 6 0
6. Kh6 6 6 0 0
Re7 6 1 1 4
7.Sc7+ 1 1 0 0
Kd8 1 1 0 0
8. Sxab 1 1 0 0
Blandfort Nr. 11 (cat-2)

all |correct |wrong |nothing
1. Bd4+ 116 57 28 31
Ka8 57 56 0 1
2.¢4 56 55 1 0
Sd2 55 52 0 3
3.¢5 52 52 0 0
Sb3 52 49 0 3
4.c6 49 48 1 0
Sab 48 47 1 0
5.c7 47 47 0 0
Sc6 47 6 0 41
8. c8R 6 4 2 0
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Richter Nr. 6 (cat-3)

250
all |correct |wrong |nothing
1.Be3+ 217 67| 109 41 Bd8 (37x) Bh4 (17x) bxa7 (16x) Bf4 (14x) bxc7 (8x) b7 (7x) Bf6 (6x) others (4x)
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